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N = 0l & At & Ml A

2A: BES 2Edn
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oY JHRE JIRSE T (EAE) (&9 &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H HnE2
SN P 90,000 91,034 A 1,034
WMReID HEs TASY L (2AES) 17,625 14,702 2,923
MRS I2EH ZH(RES) 17,625 14,702 2,923
MY I BYHED HH(REAE) 17,625 14,702 2,923
201 L2 15,925 13,002 2,923
01 AFR 22/ H 5,700 7,200 A 1,500
O2YE) HII2 A Hel =42
250,000 x6 = 1,500 3,000 A 1,500
02 2229 10,225 5,802 4,423
OHAHE E8 g5 2BR2 5,245 822 4,423
—sJ1e= 2,150 2,000 4,300 426 3,874
—due 3 3509 *2, 700 945 396 549
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201 L2 18,897 20,940 A2,043
01 AR 22 H 18,897 20,940 A2,043
ORN2HII=23H| 14,877 16,200 A1,323
— Ut 2H|
(40,0002 *15H 62 )+(40,0002 « 142 67 ) 6,612 7,200 A 588
) *95%
— 22
((50,0002 15 x62 )+(50,0002 * 142 6.2 ) 8,265 9,000 AT35
)*95%
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203 YR FXH 6,135 6,285 A 150
04 EN2YAREAH| 2,850 3,000 A 150
ORN2I YR E&H (250,000 * 128 ) x95% 2,850 3,000 A 150
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Hi: AS5l= FOXX A2 L2E(ES)
©e: FONXIME 29(5S) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
OF2XX3 32 299H| 0 540 AB40
— 850 = 0 160 A 160
—ANREE 0¥ 0 180 2180
—JIEt A2 EH| 0¥ 0 200 A 200
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OF0UE3 L FOUXXE LFA 0¥ 0 10,800 210,800
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101 @124l 183,758 162,196 21,562
01 B2 177,003 150,810 26,193
OEInF=Y=Fa= 177,003 150,810 26,193
- 62
(11,6342 x 102 %28 Al 2t 62 )+( 11,6342 %14 46,909 38,308 8,601
S x28AI 2H<6R )
—-72
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H 28 Al 2H <6 )
-8
(9,434 « 12 %28 Al 2H %62 )+(9, 4342 x 14H * 41,208 37,280 3,928
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N = 0l & At & Ml A

20199 & =Z 2 3 Lets A 4= SN Y ~ LS dF W

SN ES AAAYDY
BE: LS5 FUNA AY ASH(ZS)

Sl FOUMBXH(ES) (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
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A Sote FUXX 2 LH(ES) 34,986 29,386 5,600
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DA 2H(58) 17,686 9,686 8,000
405 TtobFH S 8,000 0 8,000
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OL% SEZYwa0l DA
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DAAMNRHE(4S) 17,300 19,700 A 2,400
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OULHE 018 S RBEES L3
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el 2 1,908 2,715 A 807

ol = 2 bl 0 807 A 807
101 Q124 4] 0 807 A 807
03 RIHAZZ2XNE = 0 807 A 807

ORIAHAZ 22 =F -807,000& A 807 0 A 807
Jl=&dl 35,770 43,056 NT,286

Jl=&34 35,770 43,056 AT,286
201 fet2E | 18,859 18,120 739
01 AF2 22l bl 18,859 18,120 739

ORM2EIN=22ZH 13,851 14,040 A 189
=t
(40,0002 x 13«62 )+(40,000% 14 +6.& ) 6,480 6,240 240
- 22
((50,000% « 13 6 )+(50,000* 14 6= ) ) » 7,371 7,800 AN 429
91%
OZAZMI| YXHE(ES)
275,000& »10H =12 3,300 3,564 A 264
OZRA=MI| YR (MFAXAHE)
237, 5103 x 101 68 1,426 0 1,426
OUEa=sZ 282 516 N 234
- =527
(15,000 =14 Ab«62 )+(20, 0002 « 104 At +6 2 210 360 A 150
)
— XX 12,0003 =170 At+62 72 156 N84
202 04l 10,560 18,720 A8,160
01 SLHOYI 10,560 18,720 8,160
A=A 10,560,000& 10,560 18,720 A8,160
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H = 0 AF AF S & Al A
20198 E = 2 3 LBt3H 42S S ~ LES &
2N BES L=
HM: HOE2X AE(ES)
S XIAE E2XAMY HHFH(ES) (&9 &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H HnE2
== sle=1n 51,928 47,488 4,440
[=4 600 600 0
Al 51,328 46,888 4,440
2 AE(ES) 11,057 13,118 A2,061
[ 600 600 0
Al 10,457 12,518 A2,061
KAS 2XAY BHGHES) 7,657 9,718 A2,061
[ 300 300 0
Al 7,357 9,418 A2,061
YESH=X S2IANA(ES) 6,657 8,718 A2,061
201 LBt2AH 4,217 6,278 A2,061
02 2224 3,417 5,478 A2,061
OULEEE=X AR 303,000 303 1,800 A1,497
omusz 1,800 2,364 A 564
- Sl 2,130 x6202 1,321 1,704 A 383
— Bt 3309 * 1,450 479 660 A 181
HHSIAH(ES 31Y=X1) 40,521 34,020 6,501
Jl2 40,521 34,020 6,501
I 2| 40,521 34,020 6,501
201 L2 17,664 15,180 2,484
01 Ab2 22! Y 17,664 15,180 2,484
ORN2ZII=23H| 14,364 11,880 2,484
— Uit 2H|
(40,0002 *11H 62 )+(40,000R * 172 61 ) 6,384 5,280 1,104
)*95%
— 22
((50,0002 *11H +62 )+(50,000 « 172 67 ) 7,980 6,600 1,380
)*95%
202 04| 19,152 15,840 3,312
01 2o bl 19,152 15,840 3,312
Oge=XII=20H|
((120,00021 x 11«62 )+(120,0002 x 17«62 ) 19,152 15,840 3,312
)*95%
203 ¢ 2 E XY 3,705 3,000 705
04 EN2IAREAY| 3,705 3,000 705
ORN2H YR &
(250,000 *62 )+(400, 000 62 ) ) x95% 3,705 3,000 705
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A

20199 & =2 2 3 LB M3S SN Y ~ LS &
PN 55 dEod
M olME TREA ZH(ES)
8ol E2 RX Zel(ES) (Ste: &)
£ - A(ZAH) - MRAY - BES Ofl &F 4 I EH Husz
TS MO 398,487 405,385 26,898
oME T2EAE XH(EES) 349,689 358,009 8,320
£2 ] #el(E8) 349,689 358,009 8,320
T2FE 2el(5s8) 3,017 15,230 ~12,213
201 Lt 3,017 15,230 ~12,213
02 332l 3,017 15,230 ~ 12,213
OEZHEININAN & S 2WRS 1,017 1,230 ~213
- &7 2, 130 #4002 852 1,065 ~213
OE2F82 2IIIA 20,000,000 *10% 2,000 14,000 A 12,000
T2 Y TRALEE Ze(ES) 346,672 342,779 3,893
201 Lt 35,900 36.000 ~ 100
02 332l 35,900 36.000 ~ 100
Oz plgxel 428 FUE AM8=
50,0002 *1CH*102 500 600 ~ 100
401 Al HIL 2 THH 293,772 289,779 3,993
01 Al& Hl 291,593 287,600 3.993
OBos BEE M % & 12,1002 *33004 £ 3.993 0 3,993
HY2LIH(SS A 37,828 36,406 1,422
Jle gl 31,453 30,031 1,422
Jl= 3l 31,453 30,031 1,422
201 Lt 14,137 12,571 1,566
01 AtR2t2lH] 14,137 12,571 1,566
ORAMSgII2HY 11,286 9,720 1,566
— Yt~ E |
((40,0002 *9% «6 2 )+(40,0008 «13H «6F ) ) 5,016 4,320 696
*95%
— 22l
((50,000%9% *62 )+(50,0002 » 13 62 ) ) *9 6,270 5,400 870
5%
202 OfHl 12,996 12,960 36
01 2ol 12,996 12,960 36
OYLFTI| =20
((120,000& *9 «6 2 )+(120,0008 «10Z <6 ) ) 12,996 12,960 36
*95%
203 YR FAH 3.420 3,600 ~ 180
04 EA2SLLRFTHI 3.420 3,600 ~ 180
ORN2ILRFXHl  (300,0008 122 )*95% 3,420 3,600 180
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A

SN ES ASAD
HE: HR5tD HL CANBY ZH(5S)
el HRE N2HY ZH(ES) (29l & 2)
SA BB (S) - MRAY - BAS 0l &k o4 p/E-T Hl DS 2
s #83y 66,043 77,360 AT11,817
MRt BZe CASY ZH(ES) 15,165 16,584 A1,419
WRE 2P XH(5ES) 15, 165 16,584 A1,419
ME I BEEI| HH(5S) 15, 165 16,584 A1,419
201 2Bt | 8,425 8,044 381
01 A= 22l 2,176 2,960 A784
OBHSIIGS ANCLHAINH SA
76,0002 176 960 AT84
02 B2 6,249 5,084 1,165
OLE YIHES S2 L AN SBE23 2,773 1,608 1,165
-3l 2, 15021 +1,00021 2,150 1,278 872
o8 3502 +1, 78021 623 330 293
202 o4 Hl 1,080 2,880 A 1,800
01 2UHofbl 1,080 2,880 ~1,800
OMBEHATY AALLH YK EZ0Ibl
1,080,0002 1,080 2,880 A1,800
UHSYLL(ES 2B 49,438 59,336 £9,698
T 19,242 28,416 ~9,174
ol 2yl 19,242 15,346 3,896
101 9121 bl 19,242 15,346 3,896
03 RINA2ZRE 4 19,242 15,346 3,896
ORI ZBYEIISE T2 Q12| 6,332 3,066 3,266
B E
(13,6102 +22 #40A] 2H+62 )+( 13,6108 +3 » 6,332 13,066 3,266
40AI2H+62)
ORYIIZYSI| ©a ZLE JAY)
(8,0002 +22 x102 +62 )+(8, 0002 +3% 102 +6 2,400 1,920 480
2)
OMHIIZBYED BE 2L I=H)
50,0002 384 450 300 150
ol 2yl 0 13,070 £13,070
101 9121 bl 0 3,070 £13,070
03 RIANA2ZRE 4 0 13,070 £13,070
OsH=0I £ ~13,070,000%! ~13,070 0 £13,070
EET 30,196 30,920 AT24
EETH 30,196 30,920 AT24
202 01t 11,913 12,960 A1,047
NETET 11,913 12,960 A1,047
YL =TI =0l 11,913,008 11,913 12,960 ~1,047
203 &2 bl 5,263 4,940 323
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SN UES OISXAD
HE: ASOHE FUKA 4 YSH(UES)
Sl EOMEXH(MES) CERED
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
09 BAAHI B A S 878 1,935 A1,057
OBZHY S FQHM &HIIT 244
504,0002 504 1,200 2696
O&OI0I& F01519 2| 374,0002 374 735 A 361
ZOME HYUAH ZTH(AUS HOI0M) 8,939 25,000 £6,061
206 TH 2 bl 819 4,800 ~3,981
RET 819 4,800 £3,981
ONzY SM 2 ¥ £30 72 S
819,0002 819 4,800 ~3,981
401 NEHIL 2T 18,120 20,200 2,080
01 Al bl 18,000 20,000 2,000
OZEZE U sS4 T 18,000,0002! 18,000 20,000 £2,000
03 A& S THHI 120 200 AB0
OZEZE U sB&X 2 20,0002 120 200 A80
HLDSSD WS LAY (25 HO0I4) 19,116 21,900 ~2,784
401 NEHIL 2T 19,116 21,900 £2,784
01 Al&t bl 19,116 21,900 ~2,784
ONLDSSD YSH oA (F25 010
&) 9, 116,0002! 19,116 21,900 ~2,784
FOURKMEHSY(MES) 153,359 186, 144 £32,785
ZORKME S Y (MES) 31,068 32,748 A1,680
201 Let24d] 7,428 9,108 A 1,680
01 AbR22IH] 7,428 9,108 ~1,680
OFURASAY SIAFHEY 7,320,008 7,320 9,000 A1,680
ZOIXXME 2 (AHS) 19,510 20,950 A1,440
301 LB A2 9,070 10,510 A1,440
12 JIE2 &3 9,070 10,510 A1,440
OFURIIME TESAX ALl i 0 1,440 A1,440
FARIME2Y (F1S) 16,490 20,190 A3,700
201 2Bt | 6,000 9,000 3,000
01 AR 22l gl 6,000 9,000 3,000
OFURASAY sIFH+L 6,000,000 6,000 9,000 A3,000
301 LB A3 10,490 1,190 AT00
12 JIEE 43 10,490 11,190 AT00
OFUNIZT2 I8 2ASE  2,800,0008 2,800 3,500 AT00
ZOIXXME 2 Y (F3S) 29,811 32,136 £2,325
301 LB A2 19,275 21,600 £2,325
2 JIEtE 43 19,275 21,600 £2,325
OFURNIT2I8 2ALY 12,675,008 2,675 15,000 £2,305
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PN AES IISXHXID
MM DMUMD ADPFAO FOHMEH 2SI (MES)
SRl HAF Y XY SBU(MES) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
— ™I |XH] 800,000 800 1,200 A 400
e (E3s) 5,600 6,800 A 1,200
201 L9y 5,600 6,800 A 1,200
02 2229 5,600 6,800 21,200
ozExz S 1,800 3,000 A 1,200
— 32X | 1,000,000 1,000 1,800 A 800
— &I X |Xdl 800,000 800 1,200 2400
OHX G BOHE MBEA XAH(MES) 40,379 39,479 900
HAHEQ olgte 2HA(MES) 28,159 21,659 6,500
plete NREHRES) 11,075 4,575 6,500
405 KHAHE SHI 6,500 0 6,500
01 IHAtY 2 E F SH 6,500 0 6,500
OLUYAEXAN RBES 287 2L
6,500,000 = 1CH 6,500 0 6,500
Al THLE - THOH UISHH R (MES) 12,220 17,820 A5,600
A2 (MES) 12,220 17,820 25,600
201 LEr2 A H| 12,220 17,820 25,600
02 E229H] 6,220 11,820 A5,600
ozsxz S 4,040 9,640 25,600
— 24| 3,240,000 3,240 8,640 25,400
22/l 800,000 800 1,000 A200
HHS2AAH (MES IS XXIL) 365,030 359,909 5,121
oled 29y 306,415 276,382 30,033
ol 29| 306,415 276,382 30,033
101 @124l 306,415 276,382 30,033
01 B2 301,969 264,718 37,251
OEInF=Y=Fa= 301,969 264,718 37,251
-62
(11,6342 x17H 28 Al 2t +62 )+( 11,6342 15 62,545 55,813 6,732
o x28AI 2H+6R )
—-72
(10,5099 #2424 %28 Al 2t 62 )+( 10,5092 *18 74,152 80,665 AB6,513
o x28A 2H+6R )
-8
(9,434 x20H *28 Al 262 )+(9, 43421 %21 * 64,982 57,329 7,653
28AI2H+6E )
—-92
(8,528 x33%H »28 Al 2t x6R ) +(8,528 2 373 * 100,290 70,911 29,379
28AI2t+6R )
02 JIEFR B & 1,789 3,405 A1,616
OXFZE U224
10,6432 « 1 x14Al 2t x 1228 1,789 3,405 A1,616
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2N MES DISXXN
HM: HHS2HYH (MES DISXXM)
o QlaEed| (&9 &)
2 A -4 (SH) - HREAY - BES ;] Fat el Iy H HnE2
03 R HA22UHE 2 2,657 8,259 A5,602
O22F Al2A2842 XF 5,602,000 A5,602 0 A5,602
|22 58,615 83,527 A24,912
Il 22| 58,615 83,527 A24,912
201 L2 21,669 26,340 A4 671
01 AR 22/ 21,669 26,340 4,671
ORN2dII=23H| 16,929 21,600 A4,671
— U2 H|
(40,0002 20H 62 )+(40,0002 « 132 67 ) 7,524 9,600 A2,076
)*95%
— 22
((50,0002 20H x62 )+(50,0002 « 132 67 ) 9,405 12,000 A2,595
)*95%
202 04| 19,008 28,800 A9,792
01 2oyl 19,008 28,800 A9,792
OgREXII=20H|
((120,0002 *20H «6 2 )+(120,0002 * 13«62 ) 19,008 28,800 A9,792
)*80%
203 YR FXH 17,938 28,387 A10,449
01 2P AREAH| 9,663 21,135 A11,472
OJ22HAR =X =5 -11,472,000& A11,472 0 A11,472
02 HEAJA R E A 4,570 3,052 1,518
OFKAINMIREEH =5 1,518,000 1,518 0 1,518
04 EN2YAREAH| 3,705 4,200 A 495
ORN2IYRE&H
((350,000%! *62 )+(300, 000 62 ) ) x95% 3,705 4,200 A 495




A

20198 & = 2 3 Lut3| A A=S ISHXY ~ 2Fs &
PN AESS QA MY
HM: ASSl= ZQUXX 22 LUSH(AESE)

Sel: FOMBIRARES) (St
2 A .2 () - HEMNY - BHES 01l Ao IR Husz
AES oM 137,966 126,029 11,937
AS5tE FOXX I LI AES) 71,184 67,992 3,192

FOMETRANES) 71,184 67,992 3,192
Ao 2H(MES) 16,457 13,265 3,192
405 KHaHE S 3,192 0 3,192
01 MY EEFSH 3,192 0 3,192

ogplgolg MAJI R 264,000 *2CH 528 0 528
OFDEE TQSQIAAE(KR200AID]) 2

870,000% *2CH 1,740 0 1,740

OFXRAMHEI 7Y 462,000 *2LH 924 0 924

HHS2ABH (MES QRN 60,832 52,087 8,745

oled 29y 4,944 5,436 A 492
A2 H| 4,944 5,436 N 492
101 @124l 4,944 5,436 N 492
03 RIHL22XE S 4,944 5,436 N 492

ORIROHLY RIIHAZZ X QIAHH| 4,944 5,436 N 492
—AlzZte2esd
(17,5209 x 1«23 Al 2t %62 )+( 18,3002 * 12 * 4,944 5,436 N 492
23AI2t+6E )

=23 55,888 46,651 9,237
=234 55,888 46,651 9,237
201 LBt 28,942 19,860 9,082
01 AR 22| H| 28,942 19,860 9,082

ORN2III22AH 20,007 15,120 4,887
— BtA =Y
((40,0002 142 62 )+(40,0002 x25H «6 R ) 8,892 6,720 2,172
) *95%
— 32|
((50,0002 *142 x62 )+(50,0002 x25%H 6= ) 11,115 8,400 2,715
)*95%
O=2A 92 8,935 4,740 4,195
— S8 = AL 103,600 * 1CH 6= 622 1,440 A818
— 2 =AD
(237,510 1T =122 )+(227, 600 41 6 R ) 8,313 3,300 5,013
202 04l 19,296 20, 160 A 864
01 2L 0dl 19,296 20, 160 A 864
OYR=ZI| =20 19,296,000 19,296 20, 160 A 864
203 YR EXH| 7,650 6,631 1,019
04 BN2IA =Y 4,019 3,000 1,019
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4,019
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2AMEES 5 U=XN

HM: HOEX A (MEE)

S XIEAIE Z2XAMY SHF(MES) (&9 &)
2 A -4 (SH) - HREAY - BES ;] Fat el Iy H HnE2
LRts=MH 29X A(E3S) 1,452 2,652 A 1,200

201 L2 252 1,052 A 800
01 Ab2 22 Y| 0 800 A 800
O Pts=2=2XMH 22| 0 0 800 A 800
301 Lt Az 1,200 1,600 A 400
09 BALAIHI B A 1,200 1,600 A 400
O SXEHAM ¥ NS AICE AHBAS
8,000 x15% «102 1,200 1,600 A 400
HESAAH (AES 5 U=2X D) 53,539 44,700 8,839
Jl 2| 53,539 44,700 8,839
I 2| 53,539 44,700 8,839
201 L2 29,413 19,500 9,913
01 Ab2 22! Y| 29,413 19,500 9,913
ORN2HII=23H| 25,137 16,200 8,937
— Uit 2H|
(40,0002 15 x62 )+(40,0002 *34% 62 ) 11,172 7,200 3,972
)*95%
— 22
((50,0002 *15H 62 )+(50,0002 «342 67 ) 13,965 9,000 4,965
) *95%
oz a%a | ex2
(237,510 *10H * 122 )+(237, 510 »1CH 6" ) 4,276 3,300 976
202 04| 19,680 21,600 A1,920
01 2o 19,680 21,600 A 1,920
AR EEI| 20 19,680,000 19,680 21,600 A 1,920
203 Y2 E XY 4,446 3,600 846
04 EN2IAR =AY 4,446 3,600 846
ORN2Y YR &
((300,0008! *62 )+(480, 000 62 ) ) x95% 4,446 3,600 846
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SA: AES MEOrE Y
HHM: HHSHYH (MESS MESONY)
S J|=2AH| (&9 &)
2 A -4 (SH) - HREAY - BES ;] Fat el Iy H HnE2
— Ut 2H|
(40,0002 10H x62 )+(40,0002 « 14 67 ) 5,472 4,800 672
)*95%
— 22
((50,0002 *10H *62 )+(50,0002 * 142 6 ) 6,840 6,000 840
)*95%
202 04| 14,364 14,400 A36
01 2o bl 14,364 14,400 A36
OY=TII=20 |
((120,0008 x 10«62 )+( 120,000 1 1H «6H ) 14,364 14,400 A36
)*95%
203 YR E XY 3,420 3,600 A 180
04 EN2GAREAH| 3,420 3,600 A 180
ORN2I IR (300,000 *128 ) x95% 3,420 3,600 A 180
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PHAES FEF
H: HH2LAH(MUES &P M)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
01 = LH 4 bl 14,256 15,840 AN 1,584
OgRF&II20
(120,000& * 112 *12& ) *90% 14,256 15,840 A 1,584
203 PR =&l 6,789 6,654 135
04 EN2IHR2F=EHI 3,135 3,000 135
ORN2EgRFAH
((250,0002 «6& )+(300,000& *6& ) ) *95% 3,135 3,000 135
HRaes(hss d&d) 702 1,080 A378
S&dXE 702 1,080 A378
gLt 3 Il E 702 1,080 A378
802 Btet= DI Et 702 1,080 A378
03 Ugd=sS 702 1,080 A378
OUEHIISHE H3lol e g3
702,000& 702 1,080 A 378
Heas(dts) 650 1,000 A 350
EdXE 650 1,000 A 350
Brat =2 D1 Ef 650 1,000 A 350
802 BHEt = JI Ef 650 1,000 A 350
03 Ug=s 650 1,000 A 350
OUEHIIZ & 3o e era3
650,000& 650 1,000 A 350
Heegs(53s8) 715 1,100 A 385
SHENE 715 1,100 A 385
gttt 3 J| E 715 1,100 A 385
802 Eret 32 J| EF 715 1,100 A 385
03 Ugd=s 715 1,100 A 385
OUEHII=S s ZE3lo e a3
715,000& 715 1,100 A 385
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Hl w

A 4,500

A 4,500
A 4,500

A 18,540

A 18,540
A 9,040
A 4,500
A4,000
23,850

A 89
A61
A 540
A 160
A 180
A 200

A 9,500
A 9,500
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165
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165
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6,500
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9,040
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SN A4S 0FSXX D
HI: AN2HPH (A4S OIS
el Qa2 Y| (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
—-62
(11,6342 x 142 28 Al 2t 62 ) +( 11,634 *14 54,727 53,631 1,096
S x28AI 2H+6E )
—72
(10,5099 x 152 28 Al 2t +62 )+( 10,5092 » 14 51,200 51,907 AT707
A x28AI 2H+6R )
—-82
(9,434 « 12 »28 Al 2t %62 )+(9, 43421 x 17H * 45,963 37,280 8,683
28AI2Hx6” )
—-92
(8,528 «21H «28A| 2t +6°2 )+(8,528R 212 * 60,174 58,967 1,207
28AI2F+6E )
03 I HL22XE S 1,590 7,981 AB6,391
ORINHAZZNES =X -6,391,000& 26,391 0 26,391
23| 71,401 100,200 A 28,799
Jl23H| 71,401 100,200 A 28,799
201 LEr2 A H| 25,418 37,320 A 11,902
01 A2 22| H| 25,418 37,320 A 11,902
ORM2YII=22H] 20,520 30, 240 29,720
— 2Bt =Y
((40,0002 282 *6 )+(40,0002 * 12H 6 & ) 9,120 13,440 A 4,320
)*95%
— S
((50,0002 282 62 )+(50,0002 * 12H «6 & ) 11,400 16,800 25,400
)*95%
O=8) 9dxz 4,898 7,080 N2,182
— SH=Eg)) 103,600 * 1CH 6= 622 1,320 A 698
— 228D
(237,500 * 1CH*6R )+(237,510R x 1L «12& ) 4,276 5,760 A 1,484
202 Ol 27,360 40,320 A 12,960
01 204l 27,360 40,320 212,960
OYR=TI|IZ20iH|
((120,0009 x28%H 6= )+( 120,000 x 12H 6= ) 27,360 40,320 212,960
)*95%
203 YR =&H| 18,623 22,560 A3,937
01 J|22I YR 11,073 15,421 A4,348
OJlA2HId2 Y =& -4,348,000& A4,348 0 A4,348
02 HRAIIAY RE XY 3,560 2,339 1,221
OFKAINAARERH =X 1,221,000 1,221 0 1,221
04 BN2IYSETH| 3,990 4,800 2810
ORMNSIYR R
((400,0009 *6€ )+(300,0002 x6& ) ) x95% 3,990 4,800 2810
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A

SA A4S UAAMD
Y. ASole FUNK 9 23 (AS)
Chelr FUMESTR(4S) (s ®d)
o9 (3H) - ALY - BLS 0l &k o J1 & o Hlms2
oF A | At 135,823 136,559 AT36
ASole FUXNX A L3 (A4S) 75,177 78,177 A 3,000
DIMET2(MS) 75,177 78,177 A 3,000
DIAAM2H(A3E) 25,295 28,295 A 3,000
201 LEt29H| 9,295 12,295 A 3,000
02 2322l 4,200 7,200 A 3,000
OZUE 018 5 REHE E€35
350,000& *12& 4,200 7,200 A 3,000
HY2AHH (AsS DIA2 M) 54,106 51,842 2,264
=3dHl 51,321 49,057 2,264
| =&l 51,321 49,057 2,264
201 LEt2 9| 27,228 20,940 6,288
01 At 22|l 27,228 20,940 6,288
ORM2ZII23H| 18,468 16,200 2,268
=1
((40,000& x15H 63 )+(40,000& *21H x6& ) 8,208 7,200 1,008
) *95%
((50,000& x15H 62 )+(50,000& »21H 6 ) 10,260 9,000 1,260
) *95%
OsgJl dxtz 8,760 4,740 4,020
—SH=g))
(120,000 *1CH 6= )+(120,000& 201 x6 & ) 2,160 1,440 720
—Z=gl
(275,000 * 10 x6& )+(275,000 30 x6& ) 6,600 3,300 3,300
202 O B 17,100 21,600 A 4,500
01 =2LHAYI 17,100 21,600 24,500
OgRF&I|I20n |
(120,000 x15H 62 )+(50,000& *21H x6& ) 17,100 21,600 A 4,500
203 B R =&Yl 6,993 6,517 476
04 EAN2SILRFAH 4,076 3,600 476
ORA2IYERF&H| 4,076,000& 4,076 3,600 476
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N = 0l & At & Ml A

019EE £ 2 3 YK ABS OISXHAD ~ LTS &P
SN NS SY=RXD
HE: HOIRK AE(YES)

9l XIGASI S RIANY & & 5H(A1S) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A4S 5Y=X D 52,753 53,986 A1,233

= 900 900 0
Al 51,853 53,086 A1,233
H=EX A8 (as) 6,256 6,896 A 640
= 600 600 0
Al 5,656 6,296 A640
RIS ASI = XA 2 4 5H(A1S) 2,856 3,496 A640
= 300 300 0
Al 2,556 3,196 £640
SBESUEH SNV (M1S) 1,856 2,496 £640
301 LB A3 960 1,600 A640
09 BAIAIHI 243 960 1,600 2640
O SNAH L WASBAS AHRAS
8,0002! x20% *63] 960 1,600 £640
YH2SAAY (MS SY=X D) 42,833 43,426 £593
2| 42,833 43,426 £593
=3y 42,833 43,426 £593
201 Lyt | 21,284 18,480 2,804
01 AbR 22l 19,320 18,480 840
ORN2YII=A| 15,660 14,040 1,620
— gsr a8yl
(40,0002 * 132 +62 )+ (40,0002 * 162 +62 ) 6,960 6,240 720
— 2l
(50,0002 #1324 *6 2 )+(50, 0002 * 162 x6 2 ) 8,700 7,800 900
O=8Il Yxg
(370,000 62 ) +(240,0002 x6 ) 3,660 4,440 AT80
02 23Sl 1,964 0 1,964
OSBE 2aM
(1,960 20021 x4 )+(3302! x3002! »48 ) 1,964 0 1,964
202 01t 14,903 18,720 £3,817
01 =L 01 bl 14,903 18,720 £3,817
RSP 14,903, 0002 14,903 18,720 ~3,817
203 Y2 =T 6,646 6,226 420
VXTSI 3,420 3,000 420
L VXTI
((250,0002! 6 )+(350, 000! 6 ) )=95% 3,420 3,000 420
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—— A
N & 0l &t A AN A
2008 = 2 3 At A=ss 0ISAXD ~ 23S &
2 s MEOA
Ho: OIS MO MBEY ZM(ME)

CHRl: Al=st THE THOH CHEMH R=E(AS) (2 &HH)
S -G (FH) - NRAY - BES Ol &F o o= o HDE2
AS MEOHM I} 559,660 588, 109 A 28,449
OHMGHD HHOtSH MEstd XM (As) 11,569 18,228 AN6,659

AlSSE THE THoll THEMA 2= (A S) 11,569 18,228 AN6,659
THEE - THOH Ol CHR (A s) 6,870 6,968 A 98
203 €2 F&d| 1,852 1,950 A 98

03 AIEH =X 2 F XY 1,852 1,950 A 98
OMY - Mo S MBON Y2 EX
1,852,000 1,852 1,950 A 98
Xk (At s) 4,699 11,260 N6,561
201 gEt24y| 4,699 11,260 N6,561
02 Z2=2=24%4| 4,699 11,260 N6,561
O2222 2 HA 2,669 4,260 A 1,591
—ANEXNEES 2,409,000& 2,409 4,000 A 1,591
ozgxeg X 1,015,000 «2CH 2,030 7,000 A4 .970
OtMEH T 2&H XA (ASE) 490,129 512,015 N21,886
TESXZE(AsE) 490,129 512,015 N21,886
TE2EZ 22 (4S) 29,457 44 229 N14,772
201 gEt24d| 29,457 44229 N14,772
02 22294 29,457 44229 N14.772
OEZEZENIAN &8 22 3,981 3,030 951
—So|d 2,130& x1,70024 3,621 2,769 852
—du2H 3302 *1,000H 330 231 99
OEZdE2= B2IIHXA 254,760,000& *10% 25,476 41,199 N 15,723
T2 YU SZANEE 2E(4s) 383,851 370,785 13,066
401 Al HI L E0HHI 349,263 336,197 13,066
01 Al&HI 346,687 333,700 12,987
OBotE S &2l 2AH] 33,300,000 33,300 26,000 7,300
OBoE E& HM&A Y EX 12, 100& #4704 &~ 5,687 0 5,687
03 Al&E 201 Y| 2,576 2,497 79
OBotsS QX &el Z2AF A2
33,300,000& x1.08% 360 281 79
20ASe MEHE XA (AH1S 200l aH) 56,605 76,785 A 20,180
401 Al HI L £ 0HHI 56,605 76,785 AN 20,180
01 Al& H| 56,100 76,100 A 20,000
OZDAe MEHe DL (s Z200a)
56,100,000 56,100 76,100 A 20,000
03 Al 20| 505 685 A 180
2NAE MEHE ZH(AHS ZO0AH
56,100,000 *0.9% 505 685 A 180
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2N
X ZH -
L= B
el

SN - EAEA) - MRAL

01
o

Off &t 24

BT Y (S HEATD) 48,362 48,266 %
=3 29,076 28,980 9%
EET] 29,076 28,980 %

201 et | 3,629 13,020 609
01 AtR 22l H] 3,629 3,020 609
oL VEX-BICE T 10,773 9.720 1,083
=]

(40,0002 x92 x6% )+(40, 0002 122 x6%8 ) 4,788 4,320 468

*95%

— S|

(50,0002 x9% +62 )+(50, 0002 122§ +62 )) 5,985 5,400 585

*95%
o=l YX2 238,000 *1CH » 122 2,856 3,300 A444
202 044l 12,312 12,960 A 648
01 =LK ol 12,312 2,960 £648
YUL=TIIZOIHl (120,0008 *9% «12 ) *95% 12,312 2,960 648
203 Y2 =T 3.135 3,000 135
04 EHSYL L= 3.13 3,000 135

L VXTIt

((250,0002 +6 )+(300, 0002 6% ) ) «95% 3.135 3,000 135
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A

SN A4S BADY
HM: JWRGID HBE TAEE ZA(ME)

S JHRE JRSE ZH(ME) (&9 &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H HnE2
M= FEPD 71,490 71,907 AT
MBSID HBS TASE ZH(MES) 7,047 4,425 2,622
MRS IREE A (ME) 6,047 3,425 2,622
MY I BYHED S (ME) 6,047 3,425 2,622

201 L2 5,831 3,209 2,622
02 2229 3,831 1,209 2,622
OBAMMEER Yt 22 3,591 969 2,622
—-SoeH 2,150 x 14024 x6° 2 1,806 639 1,167
—deH 3502 %8502 x6 2 1,785 330 1,455
HYE2FAH (AS SHY) 59,603 63,902 A4,299
Il 23 37,101 41,400 A4,299
J1=23H| 37,101 41,400 A4,299
201 L2 15,099 17,700 A2,601
01 AFR 22 H 15,099 17,700 A2,601
ORN2HII=23H| 11,799 12,960 A1,161
— Ut 2H|
(40,0002 *12H 62 )+(40,0002 * 112 67 ) 5,244 5,760 A516
)*95%
— 22
((50,0002 *12H 62 )+(50,0002 * 112 67 ) 6.555 7,200 A645
)*95%
o=sglauxz 3,300 4,740 A1,440
— SwW=E)) o 0 1,440 A1,440
202 04| 15,732 17,280 A1,548
01 2U oyl 15,732 17,280 A1,548
OgREXII=20H|
((120,0002 * 12«62 )+(120,0002 * 1 1H «6 2 ) 15,732 17,280 A1,548
)*95%
203 YR EXH 6,270 6,420 A150
04 EN2YAREAH| 2,850 3,000 A 150
ORN2I YR E&H (250,000 * 122 ) x95% 2,850 3,000 A150
Hess(as 2&dn) 3,840 2,580 1,260
RSO 2,340 1,080 1,260
BFEF 20| EF 2,340 1,080 1,260
802 £H& 3 DI Et 2,340 1,080 1,260
0B UL2E 2,340 1,080 1,260
OUEHIIS iz H3lo 02 ga2
(10,0002 x924 x62 )+( 10,0002 *302H 6 & ) 2,340 1,080 1,260
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SN NS DFSXAD
HE: ASss FUKN AY LEH(HMES)
Sl FOUTXME SY(HAS) CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
SEEP R EERCE RN
30,0002 *26% * 122 9,360 10,440 A1,080
301 LB A2 16,668 16,860 A192
12 JIEt2 43 6,668 16,860 A192
OFURIIME TESAX ALl
8,000%! 12+ 16«62 768 960 A192
ZOURNKHEHR2Y(ADE21S) 25,260 26,340 A1,080
201 2Lur2 HH| 9,360 10,440 A 1,080
01 At 22l i 9,360 10,440 A 1,080
OFUNXIZ A3 5ol Ma+g
30,0002 %262 * 122 9,360 10,440 A1,080
FOARKMEH SH(SUHIS) 27,100 28,540 A1,440
201 2Ler2 bl 9,360 10,800 A1,440
01 At 22l bl 9,360 10,800 A1,440
OFURIIAL sl BH2Y
30,0008 %262 * 122 9,360 10,800 A1,440
FOURME 2 Y (SUH2E) 21,300 22,380 A1,080
201 et A H| 9,360 10,440 A1,080
01 AL 22l bl 9,360 10,440 A1,080
OFURAAL slFL2Y
30,0009 +26% * 122 9,360 10,440 A1,080
B2 ER(HLS) 0 20,000 20,000
307 £12+0| & 0 20,000 20,000
04 QIZHEARALR & T 0 20,000 20,000
OBH2=R i 0 20,000 £20,000
H78 227X 23 B0Y(HDE2IE) 0 3,000 £3,000
307 BI2+0I & 0 3,000 A3,000
04 DI AAIRS B T 0 3,000 3,000
OR75 227X 23 s0rg i 0 3,000 A3,000
DA HDENO FUME 2Y(HAES) 186,949 213,749 £.26,800
BA L XY SNz (HAS) 178,263 205,063 26,800
AR AMS) 8,600 1,600 A3,000
201 YLEr2 A H| 8,600 1,600 A3,000
01 AL 2 el bl 8,600 1,600 £3,000
OZTHM SAFHIALEL S bl
137 5002 *40H 2 *122 6,600 9,600 £3,000
AR (AS) 58,635 72,635 A14,000
405 TH&HF St 20,000 34,000 A14,000
01 AU 2B St 20,000 34,000 A14,000
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2N

X
M Do Ao Z=OIMEH 2F(HAS)
Sl A Y XY S22 (HMS) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
OAMRE HE 22 20,000 34,000 A 14,000
— Qg ol 20,000,000 20,000 34,000 A 14,000
22 (Hars) 4,840 7,840 23,000
201 LEt2 A H| 4,840 7,840 23,000
02 B22ZH| 4,840 7,840 23,000
OASIY X 3,000,000 = 1CH 3,000 6,000 23,000
He(d2e21s) 5,060 8,060 A 3,000
201 LEr2 | 5,060 8,060 23,000
02 2229 H] 5,060 8,060 A 3,000
ozsxz S 1,200 4,200 A 3,000
— 32X X o 0 3,000 A 3,000
Azl (sU2s) 3,250 7,050 A3,800
201 LEt2 A H| 3,250 7,050 A3,800
02 22 ZH| 3,250 7,050 23,800
O2=222 ¥ HA 2,250 3,050 A 800
- NENEEE 1,000,000 *2CH 2,000 2,800 A 800
O22x2 KX 1,000,000 = 1CH 1,000 4,000 23,000
OHNGHD BOHSH MEBEY XA (HHAS) 39,205 32,705 6,500
HAZC plete 2F (HAS) 27,645 21,145 6,500
lere NEEU(HAS) 14,833 8,333 6,500
405 XHaHE SH 6,500 0 6,500
01 MY EEF SH 6,500 0 6,500
OLYAEXNN REES 287 2
6,500, 0002 = 1CH 6,500 0 6,500
HH2AHH| (HAMS OIS XX 310,522 320,003 A9, 481
ol 2 Ay 252,636 244,858 7,778
ol 252,636 244,858 7,778
101 @124l 252,636 244,858 7,778
01 B2 248,002 232,908 15,004
ZU224¢ 248,002 232,908 15,094
(11,6342 x 142 %28 Al 2t 62 )+( 11,634 *15 56,681 53,631 3,050
o x28AI 2t <6 )
-72
(10,5092 x 16 «28 Al 2t 62 )+( 10,5092 14 52,966 55,368 A2,402
S x28AI 2H<6R )
—-82
(9,434 «20H «28 Al 2t %62 )+(9,434 R »23% * 68, 152 62,134 6,018

28AI2t+6E )
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SN S OISR
HI: dN2APH (HAS OIS XX
el Qa2 Y| (St
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hws2
—-92
(8,528% x22%H x28 Al 262 ) +(8, 5282 27X * 70,203 61,775 8,428
28AI2H+6E )
02 JIEtR 2 2= 3,434 3,768 N334
OXUI2SLY(HAFE) 3,434 3,768 N334
-39 11,4432 «1H %28 A| 2t 62 1,923 3,768 A1,845
— =3 8,09221 x 1 28 Al 2 +6°2 1,511 0 1,511
03 RINAL22IE S 1,200 8,182 A6,982
ORI HAZZNES =X -6,982,000& 26,982 0 N6,082
| =23 57,886 75,145 A17,259
Jl23H| 57,886 75,145 A17,259
201 LEr2 Y| 19,479 24,816 A5,337
01 A2 22| H| 19,479 24,816 A5,337
ORN2III 23 15,903 20,520 ~4,617
—Ybta=2Y)
((40,0002 192 *62 )+(40,000 * 12H 6 & ) 7,068 9,120 A2,052
)*95%
— = 2|
((50,0002 19 62 )+(50,0002 x 12H «6 & ) 8,835 11,400 A2,565
)*95%
O=2AD| 94Xtz 3,576 4,296 AT20
— SHE A 120,000 » 1CH 6= 720 1,440 AT20
202 04l 21,204 27,360 AB,156
01 2ol 21,204 27,360 A6, 156
OO—ICIKX|3|EO:|H|
((120,00024 * 19 62 )+(120,0002 x 12H «6 R ) 21,204 27,360 N6, 156
)*95%
203 ¥R EXH| 17,203 22,969 A5,766
01 J|22I A=Y 9,663 16,785 AT, 122
OJIA2IAL2FAH XF -7.,122,0002 NT,122 0 AT, 122
02 HAIIAA R E XY 4,120 2,584 1,536
OFIIAL S FAH = F 1,536,000 1,536 0 1,536
04 ENS2IARE=H| 3,420 3,600 2180
ORN2IIEH| (300,000 * 122 ) *95% 3,420 3,600 A 180
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9,309
1,332
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1,332
1,332
462
870
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550
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550
550

7,427
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7,427
5,799
5,799
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78,110
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6,820

1,100
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1,100
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41,910
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9,675
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87,419
33,452
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8,152

1,332
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462
870

1,650

1,650
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A 2,039
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A 2,039
A 1,339

A 159
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,180
A24
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A 960
A700
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A21
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A1

A998
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A121

NATT
NATT
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ats 5 2=x

HEH2HAH (HAS 5lL=2X 1)

Jl2FH| o E)
N ZH -2 (3) - NEAY - BES ;] Fat el &
201 L2 20,493 16,896 3,597
01 AbR2 22l Y 20,493 16,896 3,597

ORN2ZII=23H| 16,929 14,040 2,889
— Ut 2H|
(40,0002 13 *6R )+(40,0002 *20L +6H ) 7,524 6,240 1,284
)*95%
— 22
((50,0002 *13H 62 )+(50,0002 x20% 6.2 ) 9,405 7,800 1,605
)*95%
O=EARI| itz
(198,000 *1CH* 122 )+( 198,000 »1CH+6" ) 3,564 2,856 708
202 O{H| 23,940 18,720 5,220
01 2U oyl 23,940 18,720 5,220
OYREXII=20H|
((120,0002! * 13«62 )+(120,0002 x22H «6 2 ) 23,940 18,720 5,220
)*95%
203 2 E Y 4,446 3,600 846
04 EN2IAREAH| 4,446 3,600 846
ORN2HYRF&H
((300,0002 *62 )+(480, 000 62 ) ) *95% 4,446 3,600 846
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——
N & 0l &t 2 A AN A
2098 =4 2 g AdBtg ) A=ssS OIS ~ LEsS JE&sA Y
2 oS MEoHA I
M otXMSt E28F XA (Hats)

Sel: T2 9 Be(HAE) (cs:mg)
SN HE -G (3A) - NBAY - B2 Ol &F o 1= o HD=2
HAtS A EOoHM I} 662,729 665,292 A 2,563
OtME T 28 XA (UAS) 555,691 557,891 A2,200

T2 SX 22 (Has) 555,691 557,891 A2,200
CREZ2 U (Has) 6,084 8,984 A 2,900
201 2Et2Hy| 6,084 8,984 A 2,900

02 B32%H| 6,084 8,984 A 2,900
OEZE=2= 2IIHXA 5,100,000& 5,100 8,000 A 2,900
2 Y (Hats) 700 0 700
201 et d9d| 700 0 700
01 AFR 2t 2| H| 700 0 700
OJtzE29a HOANA L E82 HE
2509 x2,8005 700 0 700
HAESHAY| (HALS MEOHM D} 44 488 44,851 A 363
Jleddl 31,737 32,100 A\ 363
Jl2 &4l 31,737 32,100 A\ 363
201 LBt 9| 14,637 14,100 537
01 AP 22| d| 14,637 14,100 537
OFMdS8gII248tl 11,799 10,800 999
—gsrgy
((40,0002 * 10 6 )+(40,000¥ «13H «6 & ) 5,244 4,800 444
)*95%
— = 2|
(50,0002 *10 6 )+(50,000& *13H «6 & ) 6,555 6,000 555
)*95%
O=2AI19 2
(275,000 »1CH =62 )+(198, 0002 x 1LH+6K ) 2,838 3,300 N462
202 o4l 13,680 14,400 ANT20
01 2L HI 13,680 14,400 ANT20
OgRFXII20 |
((120,0002 *10H 62 )+( 120,000 x10H 6 ) 13,680 14,400 ANT20
)*95%
203 ¥ 2 = X4 3,420 3,600 A 180
04 FEASHEYIFFEH| 3,420 3,600 A 180
OB ELE2F=8H| (300,000 x12& ) x95% 3,420 3,600 A 180
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(11,6342 x 122 28 Al 2t 62 ) +( 11,634 *14 50,818 45,969 4,849
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—72
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28AI2Hx6” )
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(8,528 «24 % «28 A 2t 62 )+(8,528 R %242 * 68,770 67,391 1,379
28AI2F+6E )
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— S
(50,0002 x202 62 )+(50,000R « 12«62 ) 9,600 12,000 22,400
202 04l 21,888 28,800 A6,912
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A gets sY=X
H: HH2IAH (Hets 2= 1)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
— =2
((50,000& *13H »6& )+(50,000& +23H +6 & ) 10,260 7,800 2,460
)*95%
OsgJll dxz
(275,000 *1CH 128 )+(150,000% 1CH+6°& ) 4,200 3,300 900
202 odl 14,000 18,720 A4, 720
01 = LH o4 1l 14,000 18,720 A4, 720
HAEFAI 20 HI 14,000, 000& 14,000 18,720 A4,720
203 YR F=&H] 3,791 3,000 791
04 BENSSHRF=LHI 3,791 3,000 791
ORNM2YE2FAH
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os FeA
RED HES TABT FH(HOS)
Rt I2HY FH(HUS) CERED
K- BB (3H) - NRAY - BES 0l & o p/E-F HIDE2
SEER 79,132 100,041 £20,909
5D S CANBY ZH(YAS) 14,856 14,123 733
B OIREY ZH(YUE) 13,856 3,123 733
Bl BYSI S (HS) 13,856 13,123 733
201 2Bt | 6,946 5,493 1,453
01 AL 22l H] 2,440 2,920 2480
OggSIIcs AZFELR YR S4
(8,000 522 * 102 x6 )+(8, 0002 1% +102 +6 1,440 1,920 £480
2)
02 B2l 4,506 2,573 1,933
O#FIHE S2 L IXNAM W23 1,613 0 1,613
—solen
(2, 1508 57021 «6 8 )+(2, 1502 x20021 ) 1,333 0 1,333
— LB B (3502 5021 63 ) (350 x50021 ) 280 0 280
OMFYIISHEI s AL 283 2,893 2,573 320
—@ilea
(10,0001 *12CH 128 )+( 10,0002 4CH <82 ) 1,760 1,440 320
202 04t 2,160 2,880 AT20
01 S LHOIYI 2,160 2,880 AT20
OMEEHATY ABHLHLIIH B0l
(120,000 *2Z «6F )+(120,0002 x 1H 6 ) 2,160 2,880 AT20
HH2 YA (HOUS HBYD) 60,516 82,158 ~21,642
ol 22yl 20,191 38,413 £18,222
=2yl 1,416 2,414 £998
101 2121l 1,416 2,414 £998
03 RIANA2ZRE S 1,416 2,414 £.998
OSIZOY BRE A2AS2R4E
(15,4702 %12 +13A1 2Hx62 )+( 17,3702 #1242 1,416 2,414 £998
NERED
o1z 2ol 18,775 22,929 A4, 154
101 21248l 8,775 22,929 A4, 154
03 RIIANA2ZRE 4 18,775 22,929 A4, 154
OMYIIZBHEISS BLE 21| 16,245 19,599 ~3,354
b ELE 16.245,0002 16,245 19,599 ~3,354
OMYIIZBHEISS BLE SAH|
(8,000 %2 #1020« 122 )+(8, 0002 *12 + 102 » 2,080 2,880 800
2d)
RN 0 3,070 A13,070
101 21248 0 3,070 A13,070
03 PINA2E2X R+ 0 13,070 A13,070
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02 02

=5

SAH-AH -2 (SA) - HREAY - BES Ofl A oH A Hnzs2
| | OSHA=0IM =3 -13,070,000& 13,070 0 A 13,070
J=2d 40,325 43,745 A3,420
J1=2A 40,325 43,745 A3,420
201 Yer2 Y| 16,845 18,780 A1,935
01 At 22l 16,845 18,780 A 1,935
ORMS"II22Y 12,825 14,040 A1,215
o L= =
(40,0002 * 13 +62 )+(40,0002 * 122 +62 ) 6,000 6,240 A240
— 2%
(50,0002 * 13 *62 )+(50,0002 « 12 x62 ) 6,825 7,800 A975
)*91%
Oo=8 dxs
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OFLUXXAE 3lA&FH = 9,030,000 9,030 10,440 A 1,410
301 et d = 9,980 9,500 480
12JEEd= 9,980 9,500 480
OFQTXIEH THEASAMI S4HI
8,000& x1H »602 480 0 480
FUNXNHH 22 (0ES) 23,660 25,160 A 1,500
201 L Er2A | 8,940 10,440 A 1,500
01 At2 22l bl 8,940 10,440 A 1,500
OFQURX A 3l A&FA 8,940,000 8,940 10,440 A 1,500
DAY SMBHO FUMH 2H(FS) 184,240 142,965 41,275
AN Y Y RASA(ES) 176,554 135,279 41,275
HAEH(2AS) 21,630 19,630 2,000
201 Zer24| 21,630 19,630 2,000
01 At2 22l bl 21,630 19,630 2,000
ORFHl AlIAE 2
(1,200,000& 128 )+(500,000 x4 ) 16,400 14,400 2,000
HBAZe(MES) 52,841 13,566 39,275
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2N

S MHSXXIH

o DD HRSHC FOMEH 2Y(LFS)
S BA Y Y RNBA(LES) (er:@e)
SA - EH . B9(3) - NRAY - BES 0f o e HDE
201 YErE Q| 42,996 13,566 29,430
02 B2l 41,496 2,066 29,430
OSEA LP+BHI(MS0S0HEY) 4,100 0 4,100
—gse HHLSE 300,000 48 1,200 0 1,200
—FIlgE Bl YBAHE 300,008 =42 1,200 0 1,200
- EE P 300, 0002 *13] 300 0 300
— AYR L ASI B% 20,0002 109} 200 0 200
- BAgS AsH 100,0002 x23] 200 0 200
—HAR HE 7Y 1,000,0002 1,000 0 1,000
OZ2R3 ¥ MA(NZ0S0HY) 8,700 0 18,700
—#ile3 3,500,002 *4% 14,000 0 14,000
—a5+E23 500, 0002 *4% 2,000 0 2,000
- DERYRY3 300,000 300 0 300
— SHA JbAI(22H) 500,000% x4% 2,000 0 2,000
—SAJA B MY PEE 20,0002 200 0 200
-2 ARy 2HE 20,0002 200 0 200
ON&ZH ST (MEHS0HY) 6,630 0 6,630
— A2 || 2,470%!+1,955.45m 4,830 0 4,830
—SF4 RN 200,000 48 800 0 800
—- 527 | 250,000% 42 1,000 0 1,000
401 N HIL 2 ThHl 9,845 0 9,845
01 Al&H] 9,845 9,845
ONZ0IS0IE WE % HEZ S &XBA
9,845,0002! 9,845 0 9,845
OINGHD HOIE MEBY XM(2FS) 45,196 38,696 6,500
HMA=E ol 2% (2FS) 30,456 23,956 6,500
DY NREU(TS) 16,340 9,840 6.500
405 Th&HF St 6.500 0 6.500
01 Rt YL B St 6.500 0 6.500
OUYASIA PBE 28I 7
6.500,0002! * 1} 6.500 0 6.500
UHSALH (VS DHSXAD) 349,785 361,889 A12,104
ol 2 ot 272,924 245,467 27,457
ol 2| 272,924 245,467 27,457
101 Q121 bi 272,924 245,467 27,457
RS 258,476 232,365 26, 111
Ozn22+¢ 258,476 232,365 26,111
- 63
(11,6342 *1424 x28A1 2468 ) +(11,6342 15 56,681 53,631 3,050
% «28AI 2 #68 )
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2N
X ZH -
L= B

el

S MHSXXIH
HH2HIH(ES OISAXL)
el 2l

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
—-72
(10,5002 x 172 %28 Al 2t 62 ) +( 10,509 =18 61,793 58,828 2,965
S x28AI 2H+6E )
— 82
(9,434 «18H «28 Al 2t %62 )+(9,434 R 172 * 55,472 49,707 5,765
28AI2t+6E )
—-92
(8,528%1 x25%H x28 Al 26 ) +(8,528 2 x34H * 84,530 70,199 14,331
28AI2Hx6” )
02 JIEt= 2 2= 10,998 9,652 1,346
OXAZE zU224H 10,998 9,652 1,346
— ZA 11,4432 «1H 28 Al 2t x 122 3,845 3,505 340
-3 10,6432 «2% x28A| 2t * 122 7,153 3,186 3,967
—= = 0 2,961 A2,961
23 76,861 116,422 A 39,561
Jl23H| 18,381 40,482 A 22,101
201 LEr2 A H| 8,107 17,400 N9,293
01 A2 22|l 8,107 17,400 A9,293
ORN2ZII22H 3,667 12,960 A9,293
— B2 Y 1,667,000 1,667 5,760 4,093
— S 2,000,0002 2,000 7,200 25,200
202 04l 6,208 17,280 A 11,072
01 2Uodtl 6,208 17,280 A11,072
HR=XI| 20| 6,208,000 6,208 17,280 A11,072
203 PR EXH| 4,066 5,802 A1,736
04 BNS2IARE=H| 1,264 3,000 A1,736
ORN2IY2EH| 1,264,000 1,264 3,000 A1,736
Jl2dH(Es) 58,480 75,940 A17,460
201 LEt2HH| 19,923 25,260 A5,337
01 A2 22l | 19,923 25,260 A5,337
ORN2ZII2AH 15,903 20,520 N4,B17
— Bt 2H)
((40,0002 192 x62 )+(40,0002 x 12H «6 R ) 7,068 9,120 A2,052
)*95%
— 32|
((50,0002 19 62 )+(50,000R * 12H 6 & ) 8,835 11,400 A2,565
)*95%
O=2AD| 9tz 4,020 4,740 AT20
— SW=EE)) 120,000 * 1CH «6 720 1,440 AT20
202 04l 21,204 27,360 AB,156
01 2U0dtl 21,204 27,360 AB,156
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AN 23S HSXHXI N
HH: HH2ILH(E S DIEXXM)
Sl Il = Al (29l & 2)
SN SAGEA) - MRALY - BES 0l &t o 0% o Hl D&
OgRFAIN204l
((120,00094 * 19«62 )+(120,000& * 12H 6 & ) 21,204 27,360 N6, 156
) *95%
203 ¥R =&l 17,353 23,320 25,967
01 122 YR =8| 9,663 17,009 AT,346
OJI228Yge=48dl =& —7,346,000& AT,346 0 AT,346
02 3 Jtatg 2 =4 4,270 2,711 1,559
OFJINH S =AY 3,279,000 3,279 1,720 1,559
04 EASSYRFEH| 3,420 3,600 A 180
ORAN2EYE=AHI (300, 000& =128 ) *95% 3,420 3,600 A 180
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N = 0l & At & Ml A

20199 & =Z 2 3 Lets A 4= SN Y ~ LS dF W

SN 2FS QIAIMD
HE: ASSHs UK AY LH(LIE)

Sl FOMBXH(2FS) CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
2HES PIAAMD 89,319 81,050 8,269
ASEE FOUNK AY LB (I S) 31,362 30,900 462

FOUMBIH(RFE) 31,362 30,900 462
DM 2Y(RFE) 7,762 7,300 462

405 TH&HE St 462 0 462

01 AU 2EH St 462 0 462
OFXAYI 7Y 462,0002! *1TH 462 0 462
HHSYHY (LS UMD 52,753 44,946 7,807
R 51,89 44,089 7,807
SR 51,89 44,089 7,807

201 et A H| 27,492 19,296 8,196

01 AL 2 el bl 27,492 19,296 8,196

ORN2YII=H | 17,442 14,040 3,402

=1
((40,0008! %13 *62 )+(40, 0002 21 +62 ) 7,752 6,240 1,512
)*95%
— 2l
((50,00021 #1325 %62 )+(50, 00021 21 +62 ) 9,690 7,800 1,890
) +05%

OFUNBME =8| =0t HI8 4,79 0 4,79
—su=g)) 103,64021 *1CH *52 519 0 519
—2e=a) 237,500 *3CH +6% 4,275 0 4,275

202 01t 17,626 8,720 A1,094
NIERCEL 17,626 8,720 A1,094
OY L=l 0i|
((120,0002! *13Z +62 ) +(120, 000 «21% +6 2 ) 17,626 8,720 A1,094
)¥72%
203 Y2 = 6,778 6,073 705
04 RA2YARFTY] 3,705 3,000 705
ORN2ILRETY|
((250,0002 «6 2 )+(400, 0002 +62 ) ) x95% 3,705 3,000 705
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= A
N = 0 &8 AFH Y & A AN
2099 & F=F 2 3 LutgH A=2S 02Xl ~ LEs &
2M: S U=
HH: HH=EX AE(¥s)

S XA SXAY 2483(LES) (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
RIS FYU=I 77,103 60,054 17,049

[= 1,200 1,200 0
Al 75,903 58,854 17,049
2 AEH(QES) 20,104 20,334 A 230
[ 1,200 1,200 0
Al 18,904 19, 134 A 230
KAS 2XAY SHHLEE) 20,104 20,334 A 230
[ 1,200 1,200 0
Al 18,904 19, 134 A 230
UYEEHEX 2% MY (EES) 8,592 8,822 A 230
201 LBt2AH 5,322 5,552 A 230
02 2224 4,522 4,752 A 230
OZEIY SRH, UHAHH SAH 2L ARE
gl 305,000 305 1,200 A 895
ozgxyg 2222 2 MA 815 900 A85
— XS XA 190,000 190 200 A10
- Asxgsz 625,000 625 700 AT5
oemE wz2
(200,000 6 ) +(325,0002 *6 2 ) 3,150 2,400 750
HHSABH(QLES 5Y=X 1) 56,999 39,720 17,279
e A 56,999 39,720 17,279
Jl23H| 56,999 39,720 17,279
201 L2 24,333 17,340 6,993
01 At 22l H 24,333 17,340 6,993
ORMegII=22| 21,033 14,040 6,993
— Ut g
((40,0002 *13H 67 )+(40,0002 x28%H 62 ) 9,348 6,240 3,108
) *95%
— 22|
((50,0002 *13% *62 )+(50, 0002 *28% x6R ) 11,685 7,800 3,885
)*95%
202 04| 28,044 18,720 9,324
01 2o Y 28,044 18,720 9,324
OgRFAII20 Yl
((120,00024 x 132 62 )+( 120,000 x28% 62 ) 28,044 18,720 9,324
)*95%
203 YR FXH 3,962 3,000 962
04 BNSHARETH| 3,962 3,000 962
ORM2IYR |
((250,0002! *6°2 )+(445, 000 62 ) ) x95% 3,962 3,000 962
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=
N = 0 &t S H3 M A
20198 T = 2 3 Lutg) AZE IISHADY ~ LEE &
SN QAS MEOHM D}
M OLFE TREF ZH(ES)

@ 2 8K 2H2(ES) (e &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H Husz
QES MEOM I} 853,070 840,843 12,227
OlEE T2EY XN (QAES) 790,469 779,322 11,147

T2 KA 22U(FE) 790,469 779,322 11,147
CREZS 22(LEE) 23,738 34,476 A 10,738

201 Yty 23,738 34,476 ~ 10,738
02 2229 23,738 34,476 A 10,738
OCT2REE 23 2Ee2 738 1,476 AT738
- =7 2,130 30024 639 1,278 1639
o Bt 330 *300H 99 198 A 99
OSR2EE2 SIHIXIA 23,000,000 23,000 33,000 210,000
C2 2 CR2AEE 22 (FE) 721,245 699, 360 21,885
1 A& H L2 515,575 493,690 21,885
01 Al&HI 511,885 490,000 21,885
ONRE ML 2 RXE4H|
100,000 «686 = *12. 5% 8,575 0 8,575
OBotsS B HME L &%
12,1002 %1, 10094 & 13,310 0 13,310
HESAAH (LES MM 41,475 40,395 1,080
Il 2 35,100 34,020 1,080
Il 23| 35,100 34,020 1,080
201 LBt 16,125 15,180 945
01 AF2 22| H 16,125 15,180 945
ORN2HII=23H| 12,825 11,880 945
— Ut 2H|
((40,0002 11«67 )+(40,0002 * 142 +6& ) 5,700 5,280 420
)*95%
— S|
((50,0002 *11H 62 )+(50,0002 * 142 +6Y ) 7,125 6,600 525
) *95%
203 YR F XY 3,135 3,000 135
04 EN2YAREAH| 3,135 3,000 135
ORMNM2IYR R
(250,000 *62 )+(300, 0002 +6& ) ) x95% 3,135 3,000 135




N = 0l & At & Ml A

SN RS HeF
HE: HNGD BEH TABY TH(QIE)
et WRE IIRBY FH(QFS) CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
2¥E A 147,653 105,342 42,311
2 21,300 0 21,300
= 10,650 0 10,650
Al 115,703 105,342 10,361
MBS D B2E CASY TH(2FS) 20,473 21,491 ~1,018
WRE H2EE FH(2FS) 20,473 21,491 £1,018
MY EHED| SHH(2FS) 20,473 21,491 £1,018
201 YLEr2 A H| 15,893 6,911 £1,018
01 AL 2 el bl 5,700 8,600 £2,900
OBHSIIHIIS ALHe 442
2,100,0002 2,100 5,000 £2,900
02 232l 10,193 8,311 1,882
OMYIIZBHEISS AL 2803 4,348 5,575 A1,227
—sxza 472,002 *26CH *10% 1,228 2,455 A1,227
OAZ #ZHE S2 2 DNN RER3 5,245 2,136 3,109
=l 2, 15021 2,000 4,300 1,278 3,022
— e 3502 +2, 70021 945 858 87
HEZAES GIIE R 42,600 0 42,600
2 21,300 0 21,300
= 10,650 0 10,650
Al 10,650 0 10,650
LS OOIR A 42,600 0 42,600
2 21,300 0 21,300
= 10,650 0 10,650
Al 10,650 0 10,650
DIMSIX HER EA L 2ZAAY 42,600 0 42,600
2 21,300 0 21,300
= 10,650 0 10,650
Al 10,650 0 10,650
101 2121l 29,400 0 29,400
2 14,700 0 14,700
= 7,350 0 7,350
Al 7,350 0 7,350
YSE VTS 29,400 0 29,400
OODIMEX HBELA B2 o2y 29,400 0 29,400
SRS 1,800,000 *22 x6 % 21,600 0 21,600
2 10,800 0 10,800
= 5,400 0 5,400
Al 5,400 0 5,400
G-I 200, 00021 2% *6 % 2,400 0 2,400
2 1,200 0 1,200
< 600 0 600
Al 600 0 600
— oltl 10,0002 22 %1302 2,600 0 2,600
2 1,300 0 1,300
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2N
X ZH -
L= B
el

SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H Hns2
= 650 0 650
Al 650 0 650
— Ol = 200,000 x2 400 0 400
=2 200 0 200
[~ 100 0 100
Al 100 0 100
— 293 200,000 x2H 62 2,400 0 2,400
= 1,200 0 1,200
[ 600 0 600
Al 600 0 600
201 L2 4,200 0 4,200
=2 2,100 0 2,100
=5 1,050 0 1,050
Al 1,050 0 1,050
01 A2 22! Y 4,200 0 4,200
OO0IMSX tiselA Chaur Xz
700,000 *1CH x62 4,200 0 4,200
=2 2,100 0 2,100
[ 1,050 0 1,050
Al 1,050 0 1,050
405 KHakE S 9,000 0 9,000
=2 4,500 0 4,500
< 2,250 0 2,250
Al 2,250 0 2,250
01 RML2EFEY 9,000 0 9,000
OOIMHX HiESA ShE=H|(0IMHX 20l S
HJ|) 2 9,000,0002! =1 CH 9,000 0 9,000
=2 4,500 0 4,500
[ 2,250 0 2,250
Al 2,250 0 2,250
HESAAH (LES &B ) 74,740 74,011 729
Jl 2 43,564 42,835 729
Il 23| 43,564 42,835 729
201 L2 18,024 18,360 A 336
01 AbR2 22l Y| 18,024 18,360 A336
ORN2HII=23H| 14,364 14,040 324
— U2 H|
(40,0002 *13H 62 )+(40,0002 * 152 67 ) 6,384 6,240 144
)*95%
— 22
(50,0002 *13H 62 )+(50,000 * 152 67 ) 7,980 7,800 180
)*95%
o=sJ gxa 3,660 4,320 A 660
— S =25 110,000 *1CH x6° 2 660 1,320 A 660
202 04| 19,152 18,720 432
01 2o bl 19,152 18,720 432
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2A 23S 30

H: HH2AAH(2Ys &P M)

¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z

OgRFaII=0H

((120,0002 x 13 6= )+(120,000& * 152 6= ) 19,152 18,720 432
)*95%

203 ¥R =&l 5,890 5,755 135
04 FAN2SYERFAH| 3,135 3,000 135

ORNMEEYRFIY
((250,000% *6 )+(300,000 x6& ) ) x95% 3,135 3,000 135
405 TtobH S| 498 0 498
01 AL ESH SH 498 0 498

O2AM MEIl 2

495,000% +(495,000% *0.54%) 498 0 498
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